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J—)LarT43> 5H148 10:.00 Kix:kEh =;8:255°C JK:g:28°C
58148 13:00 KiE:FEn =,;8:26°C 7k;8:28°C

B ]OEH OKIE| 2 EBEES |3 BN EEB |4 AHFBIC |5 WA EXK|66 B AX| 7 EHAR HBE |8 BEXR 2R
50m o 1A NG| T d1 |FHRFT d1 |FEH N6 |EmaT N[ =k5 1 |Erm™ B
28.01 29.60 29.96 30.01 30.27 30.68 31.02 31.81
s ;o OAFH B |2 TEH E |3 WA HX |4 BN OEE |5 FEH BE |6 %k BRE | 7 WK # | 8 WK EH
100om  |FERF th1|Fk 1 |FE™ N[ T f1| AT 1| EE™ IN5 [ EET ING | FER T 1
1:05.57 1:05.86 1:06.86 1:08.12 1:08.54 1:08.90 1:10.07 1:10.16
B 7O feE B |2 EBE EE |3 BB AKX |44 BE M |5 WK FTEH |6 EFF W@ | 7 AEBAKH
200m |k T 1 |luA™ /N6 |EIEa T N6 | EE T g1 |FEBH 1| ErmEh 1 |EmEth INS
2:18.46 2:22.26 2:25.78 2:32.22 2:32.70 2:33.84 2:39.32
T 7oOAE BX |2 FE M| #B B0 |4 LBERBRK|S5 WA B |6 Wb EwEER |7 THH RE | 8 KiE EX
s5om |EET thi|llOmH /N6 |FERTH /N6 B FT™ 1| FEE™ ti | TR i |ErEm /N5 | BT N6
32.91 34.75 35.19 36.03 37.79 38.12 38.89 40.30
T 7oA BX |2 #E BL | BFE M |4 "R OB |5 FO EC |6 FH EH |7 BINEKE| 8 HIE G
100m |[EE™ g1 | FE T N =k /N6 | BT t1 | FERTH 1| EET /N5 | BIEETH /N6 Bl EATH N5
1:09.43 1:15.61 1:18.90 1:19.35 1:20.07 1:20.12 1:20.76 1:20.98
T ] O RRK B |2 BN BE |3 BY BE |4 ME DR |5 XZEH PR |6 4R ZEF | 7 M OBEME | 8 B EE
s50m |EE™ B | TR 1A /N6 | TR /N6 | BIEaTH /N6 | EATH /6| AT N6 [EETT #1
36.02 36.35 36.70 39.89 40.02 40.40 41.18 41.84
TE ]OXRKFE |2 BN FE |3 #E Bt |4 KK EC |5 B EHE |6 BX 2% |7 BE LR | 8 EA PH
100m |[WETH 1| TR 1 |laTh 1 |ArEH 1|l /N6 | EETH 1| TR /6 | B ETH 1\6
1:17.88 1:19.20 1:20.60 1:22.19 1:22.69 1:25.87 1:28.04 1:28.11
eI | ! FH EKR |2 FOEC |3 MHEE—BE| 4 HL #%BIE |5 EK BEsh |6 A £EH |7 KE AHE | ¢ TR BF
50m ASH th1 |FEH 1| TR th1|Ermm 1| ATH INAEE K IN5 B R T 1| FAERT NG
29.19 31.03 32.88 34.20 34.24 34.92 36.13 36.19
Naos4 | ! BH KM |2 B K |3 LE BK |4 WAf 86| 5 %K BEsh | 6 FHE—B| 7 HH X
100m iTs 5 i1 |Emh N6 |ErET™h 1| Ermh N5 (LA N6 | TFEAT 1| FEA™ NG
1:06.51 1:11.48 1:13.59 1:16.59 1:17.98 1:18.25 1:23.77
B ARL— | 7 FHOEKR |2 RXFE B |3 ®E BE|<+4 BHEM EH |5 2E RK |6 EH B |7 AW EH | s TH BASE
200m | KRS# h1luOm f1 [ 5EH N5 |0 t1|Emm N6 | BB ING |FR TH N6 |RrETh N5
2:25.26 2:29.49 2:37.87 2:38.30 2:41.93 3:01.31 3:01.32 3:02.81

Ua1ZT7BEF

B ] RF BIK |2 B RK |3 EBEEET |4 fdh BEE |5 M IENRH |6 M OBES |7 BIF BE | ¢ AR BEX
50m o NL0Om MO M| EEH M EETT M |EETH MO M EET Y
RKE# 34.23| K& #H 34.771| KE#H 35.01| K&$ 35.33| K= ¥ 35.43| K=#1 35.51 35.85 36.44
s 7O B2 |2 FR EE |3 ORI BE |4 W xR |5 MENRH |6 BHE BX |7 EE B®RE| ¢ FEH EiE
50m =& IN | FER T N R N | B m T N |EETT N | B R T IN | KEEB IN | KB i\
4276 44.26 44.91 45.44 4571 46.66 47.85 49.60
TiE ] RAF BK |2 BH AT |3 KRR BR |4 BE BE |5 LE Rth |6 T E | 7 BFK T | ¢ HE HiEt
50m At MO INANE T N TRETH AN IN|KEEB M IEETH N BT /N3
REH 46.56| K= ¥ 47.00 4985 49.94 50.92 55.96 56.47 56.48
NETSA 7 BN #E |2 X EE |3 MNh REE |4 TR RX |5 AB EX |6 BFR FEEBE| 7 W xR | ¢ BE #4£
s50m (LA IN K EER M| EETH ML N EETH IN | FER T UNAIEE D IN3|FR TH N3
36.25 39.77 40.53 40.65 40.89 41.89 4273 43.28
BEIARL— | Hft 1B | 2 K ZEE |3 BE B |4 RKRBR |5 FE $HE | 6 sheh X
200m o IN|KEER NalLah N ERaTh N ERETh IN | BB TH N3
KEF 25967\ KL% 3:09.25| K& 3 3:11.36 3:43.84 3:45.15 4:01.24
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J—)LarT43> 5H148 10:.00 RiEHEN =;8:255°C JK:g:28°C
58148 13:00 KiE:FEn =;8:26°C 7K;B:28°C
B 7 O fEA A |2 HEEH |3 A X |4 BAK E |5 BHEZN| 6 BH ECD | 7 EHMEH | ¢ HE EWH
50m A — | E K2 (lAt =3 |&E™ =3|EE™ =3 ™ =2 |F&H x4llhAt 13
24.39 25.05 25.09 25.32 25.38 25.42 25.93 26.27
& ] BEH ER |2 FH BEE |3 ABHF FE (4 BK [E |5 HE K| 6 HEHEZN| 7 %EF ER | 8 KEF BiE
100m TR 3|k T =Z3(loth 3| aE™ =Z3(lAatth =2|aEH =3 |fhAFT 2 |BARFTH F3
52.60 54.28 54.90 56.29 56.42 56.87 57.56 59.16
& 7 BH ER |2 FE BRE |3 B BE |4 BH BE |5 ¥ R} [ 6 hE KB |7 wF —F | ¢ AF BAE
200m | TEAT 3 |&k T =3|Am 3 |la 3| liA™ Sk =2 aEh =3(am =2
KEH 1:54.24 1:55.88 1:57.11 1:59.86 2:01.08 2:03.32 2:07.72 2:07.88
& 7O MNA KFE |2 S R} |3 ZH BRE| ¢ TEF EE |5 th x| 6 M EE| 7 b BE|[8 BAK H
400m |[WWATH S2(lam =1 |aEm =2 aET =2(lATh =2 |Emm =2 [ aEH =1 aEH #13
4:11.19 4:14.27 4:16.00 4:24.62 4:29.83 4:32.38 4:37.51 4:42.15
7 NA KFE |2 @R EF |3 i KX |4 K BB | 5 A wE | 6 HER EBA
Bl (WA| =2|BEH =Z2(luaoth =2|Emth =2(lAtth Z2(luOth =2
1500 =
m igiﬁ 16:08.25 17:07.39 17:21.52 17:37.23 17:59.70 18:44.21
(800m) 8:34.01 9:08.26 9:06.98 9:13.56 9:25.49 9:44.82
T ] B BR |2 ZE BEX |3 BEF KE |4 BHF KE | 5 +H —AE
50m A —slluOth =21 | KB 3| ErE™ th2 |FERh 3
KEH 27.19 32.40 32.94 35.66 36.21
T 7 IES ER |2 HE EH |3 BRKBEBA|<4 MBE BEZ |5 AU KXKE |6 MAREKE| 7 T F | & WA L
100m o —hg|Ermm™ X2 |5E™ =1|lam =2 |FEb™ 3| FRE =2|luam =2|F ™ =2
KEHH 57.12 1:01.01 1:03.36 1:03.50 1:04.15 1:04.77 1:06.48 1:07.04
s 7 Bl OKE [ 2 BRKEAN|3 NS BEZ |4 EH B |5 MAEKE| 6 WA FE | 7 NI HE | 8 BEH X
200m FEh 3| BE™ =1(lah =2|Emth =1|TE™ =2(F ™ 22| XKEE 2| BE™H 2
2:16.74 2:17.18 2:17.75 2:20.28 2:21.11 2:28.96 2:30.44 2:32.37
TiE 7KW FEH | 2 AKX HF |3 HE EWH | ¢4 RFEF RE |5 hHMAKBEA| 6 AR EX | 7 I BE | ¢ WK K
50m TR — | FER T =Z3(ah 3| KEER 2| BEH 22| XKEE h2 | KEER 2| KEER =3
REH 29.84 32.88 33.69 35.16 35.69 35.95 36.79 37.44
TE 7O LEPRED | 2 KM | 3 BAR B# | ¢ M OFBE |5 BH EC |6 A BE | 7 R KA | ¢ FHK KX
100m |FHEbH X4| FE™ —fig| FEA™H =3|5E™ =2 ™ =2 | FE™ =2|lam X1|BArEmh &3
1:03.89 1:04.83 1:05.40 1:07.25 1:07.46 1:08.99 1:09.32 1:10.10
ks 7 OBA BA#t |2 A BE |3 M O FERE (4 M B |5 dF KA |6 BKEXK|7 RF HBE |8 =E ME
200m | TFREEM =3 | TR =2 |5Eh =2(amh =3|(lam X1 |Emh B3| KEE 2| FE™ =3
2:22.71 2:27.96 2:28.97 2:29.13 2:31.24 2:35.27 2:37.93 2:38.46
NETSA 7 WWR EH |2 EBFH M |3 BXK FHN | ¢4 BIR IS |5 HEF OKKE |6 HPh BH | 7 WO xE | 8 BHH EFI
50m N —f&|BrE™ h3|ErmEm —f&|FEBT th3 | KSAR =3|Emm X1|luAmh 2| B 2
KEH 25.51 29.71 30.18 30.92 33.71 34.72 37.62 39.97
NETS A 7 OWiR E® |2 ME X |3 WHX—HEH|<¢4 BE tH— |5 W —F |6 HEA B | 7 ERN RE | ¢ AIAXEZN
100m  |ET — (O =3|lah =2 |FEbH =15 8T =3 |FARF 2| lLATHh =1 |FEbH =2
56.76 57.74 58.53 59.40 59.53 59.89 1:01.09 1:01.51
NaTs4 | ! HR ORE | 2 = BF |3 WMHAKXK—H|<¢4 B BEA |5 BB fH— | 6 AAXE2N| 7 HBE J/H | ¢ F BEX
200m |HIET =1 | 5Eh =2(\lAah =2 |FARFTH th2 |FEB T =1 |FEbHh =2 | TR 2 |Ermmh 2
2:10.57 2:11.10 2:11.94 2:12.29 2:14.17 2:27.53 2:31.89 2:32.33
B ARL— | 7 KR FR |2 BR M= |3 EBEH BFE |4 AME—E|s DNl B |6 EEH MXE |7 ®WFER IZ |8 EH B}
200m |Jt ™ =3(la =2(lAah 3|k ™ =3(lam =1 | TR a3 |Bh =3|FErmh =)
KE&3  2:06.60 2:11.71 2:15.02 2:15.83 2:17.60 2:23.83 2:24.03 2:24.66
B ARL— | 7 KR FR |2 BRE M= |3 AFE—HE| ¢4 HE R |5 BXK ER | 6 FAINMK| 7 BX AE | 8 /MIFEKXKER
400m >, 7] =3Ot =2 ™ =3|Amh =1|Amth 3| ErE™ 2|k H 22| KEA =1
K& 4:28.31 4:46.47 4:51.31 5:03.05 5:10.88 5:12.93 5:18.95 5:19.85
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J—)LarT43> 5H148 10:.00 RiEHEN =;8:255°C JK:g:28°C
58148 13:00 KiE:FEn =;8:26°C 7k;8:28°C
& ] EEAXS | 2 ROBHE |3 MF KXE|4 WK BE# |5 BME X8 |6 ®HFEEXE E | 7 #ft A | ¢ HE &%
50m A N6 |BETH fi1|lLAm 6| TEAT 6| TEATH N6 | Bl 1| &P TH 1| B’ N5
29.18 29.23 29.38 32.26 32.72 32.95 33.29 33.30
& ] BEEAXG| 2 ROAWBHE| I3 HEEF XE |4 IXK M |5 BM OE (6 #HHEH WK | 7 ®@FEXE 2| ¢ NEF £F
100m |EmE™ N6 | EET 1|u0m ING | KEEB IN5 | FER T /N5 | TFRET 1| @t fh1|EmHh IN5
1:04.12 1:04.91 1:05.37 1:06.89 1:08.50 1:10.55 1:11.41 1:11.94
& 7] OBk EE |2 B LDE |3 IKXK M| ¢4 %k Wi |5 TEHE WK |6 A ER |7 fhEH &% | 8 AN EA
200m [ /N6 |FERTH INS | KEER INS B ET 1| B 1| BgEH 1 |Emmh N5 | R ==
2:24.70 2:25.06 2:25.13 2:26.45 2:30.56 2:34.47 2:34.93 2:36.84
T 7 Bhth EEF |2 TREHRE| 3 ZHFE BHE |¢4 KO MF |5 +vH BF |6 HEF EF |7 WK E#H | ¢ 4H xF
50m Bt NG | KEED /N6 |EEaT t1 | FEA™ d1|Arh d1|Emm NRNE: G N6 | EET IN5
32.56 33.40 34.22 34.93 35.40 35.45 37.02 37.13
7 B BB | 2 A0 BHE | 3 A #E |7 5 F B |6 BHE EZ |7 B EF | 8 HE LB
Er™h /N6 | TFREH 1 |Emm™ =a) FEfTH 1 |Em™ 6| EET INIPN=E /N6
HixkE 1:09.80 1:11.85 1:14.34 1:16.27 1:17.42 1:21.22 1:21.69
100m 3 FAREHEE| | R(LFT TREME #E BE
KEZE NG i PN /N6 |ErET™ ==}
1:14.34| - 1:13.68 1:14.75
T 7 w0 B¥ |2 BA BEX |3 WK BB |<¢4 oA tE |5 @wLU E |6 WiE Mk | 7 XE BF | ¢ TH BE
50m TR /N6 |EmTH INS [ EETT /6| TRETH b1 |FERTh N6 | BT 1| FREH 1| TR ==B|
38.86 39.27 39.32 39.82 40.21 40.66 41.82 42.43
ks 7oA BE |2 WK &P |3 BA EE |4 @@L E |5 LfH tEB |6 HE KX |7 TH BE |8 FAE
100m TE™ NI E=EE N6 | ElmaTh INS|FERTH N6 | FREH F1 | KEE NN 1| B 1
1:24.74 1:25.23 1:26.20 1:29.45 1:30.66 1:32.92 1:33.56 1:34.36
INETSA 7B ER |2 ik = |3 Lh ED |4 BN EZ |5 MR EE |6 HOBORBFE| 7 £F % | ¢ 1EA KFx
50m Bt d1 |Br AT N6 | EETT /N6 |FEmaTh IN5 | Ea T N6 | EFRT f1|EEH 1 |FE™ i\
32.13 32.36 33.45 34.45 34.83 35.54 36.36 37.29
NETS A 7 BN ER [ 2 MHA BHF |3 MR EE | 4 Dk F | 5 B EF
100m |EmE™ 1 |Ermh 1| Em™ N6 |FHRFTH /N6 | m T IN5
1:11.84 1:12.63 1:14.43 1:15.16 1:15.80
BEIARL— | ! Wi Mk | 2 Wmft E#E | 3 R i€ | ¢4 Lh B |5 Bk BB |6 ER EE |7 £F & | 8 FHAJIEEKx*
200m | 1 |FE™ 1| EE™ 1| EE™ N6 | m T INAE=EEL N6 |EETT 1 |Emh i\
2:40.13 2:41.85 2:43.77 2:47.48 2:49.36 2:55.04 2:59.57 3:02.17
Vi1ZTBXF
& ] OBk Lk |2 hE O E |3 EB OE |4 BR B |5 M HE |6 AL FR | 7 hFE EK | & FA EX
50m [Em N lLOTh N TR N T INS|BARETH N TR N TR NIRRT N4
36.02 37.01 37.36 37.37 37.43 38.90 39.34 39.46
s ] AR EDN |2 BRABR |3 FER LK |4 AL FHR |5 LUK EE |6 BE OE | 7 EAEHRE| 8 BA FE
50m (LA IN K EED NG N T RE™ NG /N3 | TFRAT AL NG N3
4219 43.24 44.97 4553 4567 46.68 47.23 47.68
Tz 7 OfBAR ENh |2 BHTHES| 3 WK @A | ¢4 AW K |5 KXE HX |6 HFEH EX |7 BA FE |8 B& B
s50m (LA N ER™ N3 | R N3 AT /N TEE™ M BRI UNAIEED N3 TH N3
47.50 50.08 50.11 50.47 50.57 50.80 53.08 53.73
INETSA 7 tE E |2 BTHES| 3 $E EK | 4 MEF HE |5 WUk T (6 £F HEFH | 7 BRAEEREZE| ¢ WR PxX
50m |HIOT™ N EFT /N3 | TR N B RF T /N TR I E T M| EETT /N3 | T N2
41.45 41.96 42.05 42.06 43.84 47.96 50.31 53.31
BEIARL— | 7 e Z | 2 BRX B | 2 HE KF
200m TEH IN K EER /N BT /N3
3:15.05 3:19.37 3:46.01
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J—)LarT43>  5H14H 1000 XKEFEh - ERB255°C KiE:28°C
58148 1300 XiEFEh  =ER26°C  Ki@:28°C
& ;7 KRB BE (2 BN —F |3 €H £ |4 HHN £FE |5 kK 8|6 R BE | 7 REEBRRF| 8 W FRE
50m o =2|F ™ 2 |BhRFT f3|luAmH 3| lLaTh ==k 3| EEh 3| EE™ =1
27.06 28.08 28.48 28.64 28.72 29.24 29.28 29.49
B ] BEBE |2 KWH BB |3 ANl —E |4 €H R |5 HFN =% |6 HEF T8 |7 EAKKXKHE |8 EAK &
100m | FEE™ =% 1=k =2|%k T g2 |Ba R 3| lLaTh 3| AT =2 | TR 3| O =
58.05 58.34 1:00.79 1:01.80 1:01.81 1:03.13 1:03.51 1:03.56
B ] BE BE |2 YR HE |3 K ALK |+ REMBE|5 WRE XK | 6 B Wy | 7 TEx #&E | 8 Bl &F
200m | FEE™ 23| 5E F3|EE™ =1 |FEbH 3| lLATHh =3[Fk T f2| =3O 2
AE$ 20443 2:15.82 2:18.13 2:19.84 2:21.00 2:21.81 2:25.85 2:28.02
& 7 OFH RE | 2 R SE |3 HRREFEF |4 ZH MF |5 REMBFE| 6 XX B | 7 HHF @Y | & FEix &EE
400m | FEAT 2| mETH R3O =3|Emm th3|FET h3lk =2|Fk ™ 2l =3
4:37.40 4:47.95 4:49.84 4:53.42 4:54.91 5:00.40 5:03.42 5:05.97
B 7 OFH FRE |2 ZEH BMF |3 RXR B |4 FRREF| 5 EREEF |6 BH E | 7 [REH Ik
goom | FEET™ 2 |Ermmh B3|k ™ =2(la =3| KEE 2| FE™ h2|Fk 2
9:27.28 9:52.23 10:01.15 10:14.05 10:27.74 10:57.85 11:11.03
e TR BE| 2 KM KE |3 BT BE
50m aEh =2 (&4 rh2 | = §3
36.09 40.35 43.28
s 7T RIE |2 MR RXKE |3 KR BExX |4 EE OF | 5 EAERRE |6 U FEF |7 EE PE | ¢ HI BF
100m | FE™ — | =& 3|0 =311k 3 |Ermth =1 |5Eh 2| lLaTH 22| 5Eh =3
1:04.44 1:07.50 1:09.42 1:10.86 1:11.75 1:12.74 1:14.17 1:14.59
T 7 OWT RE |2 HR XRE |3 KR BEX |4 RIBHIV | 5 BHH TR | 6 BARERRFE| 7 B2 W& | 8 #HLU E#S
200m | TFEEM — =& 3|0 =1 | TR =1 | 2| ErEh =1(l0Om F3|EE™ §2
2:16.98 2:24.11 2:29.31 2:31.05 2:36.82 2:38.65 2:39.30 2:41.26
ToE 7oHhE BIE | 2 AREERZR |3 K TF |4 =B KM | 5 AR B
50m Armh th2 AR 2 [ 5EH 23|k ™ th2 |FE T 3
39.89 41.94 42.33 42.78 44.66
TiE ] BH BE |2 KRR B |3 BAR P |4 WHFEEXKS| 5 BB EBF |6 #®BE EA |7 WT Wk | 8 =Z#EXRER
100m [& ™ =2(la =3|ah tr3|BARF ==k 3| luAm™ =2 | TR =2|FErmth 2
1:16.87 1:17.01 1:17.74 1:19.58 1:19.62 1:22.34 1:22.73 1:23.77
TE ] BH BE |2 BX P |3 BA EF |4 WT I | 5§ HFEEXKS| 6 EAK E | 7 ZHXEEREE | s BF BF
200m |Jt ™ =2(la 3|0 3| FE™ =2 | == =3|Emmh 2| FE™ 2
2:42.06 2:46.78 2:49.57 2:50.44 2:54.32 2:54.42 3:01.54 3:03.04
a5 | ! A £% | 2 A% HF | 3 EAN XT
50m |AmEW o3 Bh R f3(lOTh 51
31.63 32.98 33.45
NaTs4 |7 BRILFIEE | 2 /RO X |3 Mt RS | ¢4 BEF BE |5 Hhd £2/F | 6 #F BHE | 7 #HH T4 | 8 EH BB
100m [& ™ 22| 5EH =1 |Armh 2| A 3 |Ermh 3 |FEpT a2 |Bh T 2 |Emm H2
1:05.82 1:06.24 1:07.95 1:08.32 1:10.44 1:10.91 1:12.81 1:12.95
Naos4 | 7 BRILFIEE | 2 RO 9% | 3 EH BB | 4 /it RS
200m |t T =2 |5EH =1|Emh th2 | Emh 2
2:21.26 2:27.70 2:29.90 2:37.12
B ARL— | 7 €Hm ERA |2 BE BEX |3 BH BER |4 ®RHSO | 5 BEEAL | 6 HF EH |7 FH B |8 HA DE
200m |EET 22| 5EH =3[k ™ =2 | TR ==k =1 (A 3| FEH 2| KEER 3
2:22.84 2:25.41 2:26.20 2:35.08 2:36.93 2:41.27 2:43.43 2:43.57
B ARL— | 7 BH BR |2 €@ FA |3 AE BX |4 BEEIN| 5 BERERZ| 6 S £H | 7 & BHE | 8 FH #END
400m | T =2 |aEh =2 aEh =3(aTh =1 | KEE 2O 3| FE T f2| TR™ 2
5:03.56 5:05.24 5:07.02 5:24.12 5:31.61 5:35.18 5:35.27 5:49.47




